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CHAPTER

LEARNING OUTCOMES

After reading this chapter, you will be able to:
 l Understand the utility and nature of financial statement analysis
 l Comprehend and interpret horizontal and vertical analysis
 l Assess profitability through computation and interpretation of ratios
 l Use ratio analysis for assessing liquidity of a firm
 l Use ratio analysis for assessing solvency
 l Understand the computation and interpretation of DuPont ratio

Directors’ Report
The economic outlook for the year 2014–2015 was prom-
ising while improvement in consumer demand was quite 
lukewarm. The company’s jewellery business was also 
impacted due to regulatory changes and termination of 
the consumer-friendly Golden Harvest Scheme. The com-
pany’s brands witnessed good growth during the first half 
while in the later half, they witnessed a decline due to the 
absence of the Golden Harvest Scheme, which used to 
contribute about 30% of the Jewellery Division’s revenues. 
The company will however continue to invest in strategic 
initiatives taking into account its long-term and sustainable 
growth plans.

During the year under review, the company’s sales 
income grew by 8.96% to INR 11,936.71 crore compared 
with INR 10,955.14 crore in the previous year. Profit be-
fore tax grew by 3.93% to INR 1,055.89 crore and the net 
profit grew by 11.05% to INR 823.07 crore. This perfor-
mance came in the backdrop of an environment where 
the consumer sentiment did not pick up as expected. The 
strength of the company’s brands contributed to sales 
growth across all retail formats of watches, jewellery, and 
eyewear.

The watches business of the company recorded an 
income of INR 1,921.04 crore, a growth of 7.27%, which 

was achieved through meticulous planning and execution 
of key initiatives. The income from the jewellery segment 
grew by 9.24%, touching INR 9,429.97 crore. The income 
from other segments comprising Precision Engineering, a 
B2B Business, the Eyewear Business, and accessories 
grew by 12.91% to INR 564.31 crore. The year witnessed 
aggressive expansion of the company’s retail network with 
a net addition of 123 stores. As on 31 March 2015, the 
company had 1201 stores, with over 1.59 million sq. ft of 
retail space delivering a retail turnover of just under INR 
12,000 crore.

International Operations
The watches exports registered a handsome growth of 
12% to clock a turnover of INR 137.76 crore against a 
backdrop of several headwinds in international markets. 
The business sustained its targeted investments in retail 
and brand building in key, large markets. The presence of 
Titan in modern retail is adding to both image and busi-
ness. Entry into in-flight sales through Singapore Airlines 
paves way for a new route to building the brand. Vietnam,  
UAE, and Malaysia lead the growth stories while Indone-
sia, Nigeria, Philippines, and SAARC markets hold prom-
ise for future.

The key financial ratios are given as follows:

OPENING EXHIBIT: EXCERPTS FROM ANNUAL REPORT (2014–2015) OF TITAN COMPANY LTD
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Company-wide Outlook for FY 2015–2016
While the opportunities and risks faced by each business is 
highlighted above, overall, as Titan Company looks ahead 
with cautious optimism, in its consumer business, the com-
pany has over three decades endeavoured to transform un-
organized sectors of industry, be it in watches, jewellery, or 
eyewear. However, non-compliance of the law of the land by 
other players in the industries and government’s (central and 

state) inability to deal with such non-compliance swiftly and 
effectively has only made the playing field more uneven. In 
the present circumstance, therefore, the company can only 
pursue advocacy and continuous customer education to 
achieve higher-than-present rate of growth. In the Precision 
Engineering business, however, the company’s competence 
has been sufficiently recognized by global customers and 
expects to enhance to grow aggressively in this business.

INTRODUCTION
Financial statements are like a window through which the stakeholders can peek into the affairs of a 
company. A balance sheet gives a snapshot of the sources and uses of funds as on a particular date. 
The profit and loss account tells us about the earnings and losses made by the company during an 
accounting period. However, a mere statement cannot tell the complete story. Analysis of financial 
statements is required for understanding the financial health of a company. The excerpts from the 
annual report of Titan Company Ltd given earlier provide a glimpse of the financial performance 
during the year 2014–2015 as well as the future outlook (for the year 2015–2016) of the company.

In this chapter, we will discuss the tools and techniques for analysing financial statements. For 
a better understanding, we include the examples of Asian Paints Ltd (APL) and Berger Paints Ltd 
(BPL). The opinions given in this chapter are that of the author and the purpose is only academic 
in nature. The ratios are computed by using the methods depicted in standard financial literature.

Source: Adapted from Annual Report of Titan Company Ltd (2014–1015).

If you want to reap financial blessings, you have to sow financially. – Joel Osteen

FM_book.indb   72 8/3/2016   8:55:05 PM



Financial Statement Analysis 73

FINANCIAL STATEMENT ANALYSIS—A BRIEF REVIEW
As mentioned earlier, the study of financial statements of a company is done for assessing its 
financial health on a given day. Stakeholders of a company including the investors, creditors, and 
the government will be interested in knowing the state of the financial health of the company. 
Analysis of financial statements helps them to achieve this objective. The essential requirements 
for a financial analysis are as follows:
Financial facts and figures Financial data is available through financial statements such as balance 
sheet, profit and loss account, cash flow statement, and so on. It is obligatory for publicly traded 
firms to publish the audited financial statements annually as a report called the  Annual Report. 
The content of an annual report is discussed in detail in Chapter 3. In addition to publication of 
annual report, a company also publishes quarterly as well as half-yearly results. A company also 
issues press releases highlighting its financial performance. All these published items of information 
along with company’s internal reports, if available, are used for financial analysis. In this chapter, 
we will use the financial statements of APL and BPL for analysis.
Benchmarking Financial statements cannot present a complete view of financial health in a stand-alone 
manner; it has to be compared with some benchmarks. Benchmarking and comparison may be horizontal 
or vertical. Horizontal analysis is comparison of financial results of the same company across different 
periods. In vertical analysis, the financial results of a company are compared with competitors’ perfor-
mance as well as industry benchmarks. For example, we may compare the performance of Tata Steel by 
benchmarking it with the performance of other prominent players in the steel industry such as SAIL, JSW 
Steel, and so on. We will discuss more about vertical and horizontal analyses in the following sections.
Analytical tools Several analytical tools are available for financial studies and are used by analysts 
for analysing financial statements. Some of these are ratio analysis, common size statement analysis, 
trend analysis, and graphs and charts. As mentioned earlier, a stand-alone figure cannot speak much 
about the company’s performance. In this chapter, we will discuss two major analytical tools: ratio 
analysis and common size statement analysis. To give a real-life flavour to this entire discussion, 
we will use the annual reports of APL and BPL. 

RATIO ANALYSIS
Let us consider two companies, A and B. The profit earned by Company A is INR 10 lakh and the 
profit earned by Company B is INR 20 lakh. Which company is more profitable? At initial glance, 
the second company appears to be more profitable. However, if we are also provided with the rev-
enue figures; for example, the sales revenue of A is INR 50 lakh and that of B is INR 150 lakh; the 
picture changes. Then the profitability in terms of percentage of sales can be as shown in Table 4.1.

Table 4.1 Comparative profitability chart

Company Net profit (INR lakh) Sales (INR lakh) Net profit/Sales Net profit (%)
A 10 50 10/50 = 0.20 20
B 20 150 20/150 = 0.13 13

As shown in Table 4.1, contrary to the earlier perception, Company A is, in fact, more profitable than 
Company B. The net profit (NP) ratio of Company A is 20%, whereas that for Company B is only 13%.
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This example clearly shows that the stand-alone figures do not narrate the complete story. Ratio 
analysis is a simple but very powerful technique for financial analysis. In ratio analysis, the ratios 
are computed and compared to assess the financial health of a firm. We will calculate financial 
ratios of 2012 for APL and BPL using the figures from balance sheet and profit and loss account 
as shown in Figs 4.1 and 4.2, respectively.

Fig. 4.1 Balance sheet and profit and loss account of APL (2011–2012)
Source: Asian Paints Annual Report 2011–2012.
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 (Contd)
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Fig. 4.2 Balance sheet and profit and loss account of BPL (2011–2012)
Source: Berger Paints Annual Report 2011–2012.
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Types of Ratios
The different types of ratios are mainly classified under the following two categories (refer to 
Table 4.2):

Balance sheet ratios Balance sheet ratios are aptly 
named because both the numerator and the denomina-
tor are fetched from the balance sheet. These ratios 
primarily give an idea about the financial health of 
a company on the balance sheet date. Balance sheet 
ratios can be further sub-divided into two categories, 
namely liquidity ratios and financial leverage ratios.

Income statement or income statement/balance sheet 
ratios In such ratios, the numerator and the denomina-
tor are fetched either both from the income  statement 
or one from the income statement and the other from 

the balance sheet. These ratios give an idea about the financial performance of the company over 
a period of time. Coverage ratios, activity ratios, and profitability ratios are the three main sub-
categories that belong to this class.

We will discuss each type of ratios in detail in the following section.

Liquidity ratios
An important question often faced by the stakeholders as well as the management is whether the 
company is capable of paying its short-term obligations. Is the firm liquid enough? Liquidity ratios 
are computed to assess the firm’s liquidity, that is, the firm’s capability to pay the liabilities in due 
time. Liquidity ratios are easy and quick to compute. We compute two important liquidity ratios 
for APL and BPL, as follows.

Current ratio  Current ratio, also termed as working capital ratio, compares current assets with cur-
rent liabilities. In other words, this ratio tells us how capable the company is to meet the current 
liabilities, that is, short-term obligations, out of current assets, that is, short-term assets. It compares 
the availability of current assets that may be turned into cash for meeting the current liabilities 
within the same year or the same operating cycle. Current ratio is calculated by dividing current 
assets by current liabilities.

Current ratio = Current assets/Current liabilities

From the balance sheet of APL (Fig. 4.1), the current ratio for the year ending 31 March 2012 can 
be calculated as

= Current assets/Current liabilities
= INR 2,777.69 crore/INR 2,290.08 crore
= 1.21

Similarly, from the balance sheet of BPL (Fig. 4.2), the current ratio for the year ending 31 March 
2012 can be calculated as

= INR 1,050.1 crore/INR 642.8 crore
= 1.63

Table 4.2 Types of ratios

Balance sheet ratios Liquidity ratio

Solvency ratio or Financial leverage 
ratio

Income statement or  
Income statement/ 

Balance sheet ratios

Asset management ratio, Activity ratio, 
or Turnover ratio

Profitability ratio

Coverage ratio
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Table 4.3 shows the current ratios of the two companies.
As observed in Table 4.3, the current ratio of APL has declined from 1.46 

in 2010–2011 to 1.21 in 2011–2012. However, in comparison with BPL, 
the current ratio is still lower. In 2011–2012, the current ratio of APL is 
1.21 vis-à-vis 1.63 of BPL. We may say that BPL is more liquid than APL. 
However, high current ratio is not always a very desirable situation. It may 
imply high un-invested cash, non-moving stock, and slow-paying debtors. 

It is difficult to mention any ideal current ratio that is universally ap-
plicable to all types of industries. However, the current ratio of any company should match with 
that of the industry to which it belongs. The current ratio of APL and BPL should not deviate much 
from the current ratio of the Indian paint industry as a whole.

Quick ratio Quick ratio or liquid ratio gives a more in-depth view of the liquidity position of a com-
pany. Quick ratio does not consider inventories and prepaid expenses as part of current assets. This is 
a logical exclusion as the company may not be able to convert inventory into cash easily. Inventories 
need to be sold first for converting into cash. Selling inventory is a time-consuming process. When 
and how the inventories will be sold is dependent on many factors such as economic conditions, 
consumer preferences, and so on. These factors are often not controllable by the company. Therefore, 
inventories are not really that current in real sense. Prepaid expenses are also excluded because they 
cannot be converted into cash. Thus, it is a more conservative measure of liquidity. The basic purpose 
of computing liquidity ratios is to assess the capability of repaying the current liabilities on demand. 

Quick ratio may be computed as follows:

Quick ratio for APL = (Current assets – Inventories – Prepaid expenses)/Current liabilities
 = (INR 2,777.59 crore – INR 1,264.42 crore)/INR 2,290.08 crore
 = 0.66

Table 4.4 presents quick ratios for APL and BPL.
It may be observed from comparing Tables 4.3 and 4.4 that the quick 

ratios of APL and BPL are lower than their current ratios. The reason 
for the lower value of quick ratio is the exclusion of inventory from the 
current assets, In that sense, the quick ratio of BPL is on the higher side 
(higher than that of APL).

Cash ratio Cash ratio, also called cash asset ratio, is the ratio of a com-
pany’s cash and cash equivalent assets to its total liabilities. Cash ratio is 

even more conservative compared to current ratio and liquid/quick ratio and indicates the extent to 
which readily available funds can pay off current liabilities. Potential creditors use this ratio as a 
measure of a company’s liquidity and how easily it can service debt and cover short-term liabilities. 
Cash ratio can be calculated as follows:

= Cash and cash equivalents/Current liabilities
The cash ratio for APL for the year 2011–2012 is 

= INR 500.97 crore/INR 2,290 crore
= 0.22

Similarly, the cash ratio for BPL for the year 2011–2012 is 
= INR 1,763 crore/INR 6,428 crore 
= 0.27

Table 4.3 Comparative study  
of current ratio

Current ratio
2011–2012 2010–2011

APL 1.21 1.46
BPL 1.63 1.79

Table 4.4 Comparative study  
of quick ratio

Quick ratio
2011–2012 2010–2011

APL 0.66 0.82
BPL 0.83 0.94
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A very high cash ratio is not desirable as it may show the cash management 
skill of the management in poor light. On the contrary, a very low cash 
holding may challenge the liquidity position of the company. 

Asset management ratios
Companies use funds for acquiring assets. Assets are acquired for gener-
ating income. The asset management ratios measure the effective use of 

assets of a company. The question is How well are the assets used for meeting the objective of 
wealth maximization? If the company overinvests in assets and fails to generate adequate return, the 
NP will decline, ultimately hurting the stock price. Therefore, optimum use of assets is important 
for survival and growth of a company. In the following sections, we discuss the different types of 
asset management ratios, e.g., (a) Inventory turnover ratio, (b) Accounts receivable turnover ratio, 
(c) Fixed asset turnover ratio, (d) Total asset turnover ratio, and (e) Working capital turnover ratio:

Inventory turnover ratio The inventory turnover ratio tells us how many times during a given period 
the company is selling out its inventory balance. Obviously, companies prefer higher inventory 
turnover ratio. Higher inventory turnover ratio implies faster selling of inventory holding and lesser 
investment in inventory stock, leading to a higher profit. The inventory turnover ratio is defined 
as follows:

Inventory turnover ratio = Sales/Average inventory 

where Average inventory = (Opening inventory + Closing inventory)/2
For APL, inventory turnover ratio (2011–2012)

= INR 7964.16 crore/[(INR 1264.42 crore + INR 1071.76 crore)/2]
= 6.81

This implies that the inventory of APL is sold out 6.81 times in the year 
2011–2012. In other words, APL made a sale of INR 6.81 for every INR 1.00 
of average inventory holding during the year 2011–2012. If we make a com-
parative study of inventory turnover ratios of APL and BPL, it will appear 
as shown in Table 4.6.

It seems that the turnover of inventory (sale) is a little higher in APL as 
compared to BPL. However, it may be noticeable that, for both the companies, 
the inventory turnover ratio is in marginally declining mode. For both APL 
and BPL the ratio has come down.

Components of inventory In manufacturing firms, the inventory goes through 
the production process before it is turned into finished goods. The process 
is explained in Fig. 4.3.

The turnover ratio for raw material and work-in-process (WIP) may be 
computed as follows: 
(i) Raw material inventory turnover ratio =  Material  consumed/Average 

raw material inventory
 where, 

Material consumed =  Opening stock of raw material + Purchase of raw material – 
 Closing stock of raw material 

Table 4.5 Comparative study  
of cash ratio

Cash ratio
2011–2012 2010–2011

APL 0.22 0.30
BPL 0.27 0.25

Table 4.6 Comparative study 
of inventory turnover ratio

Inventory turnover ratio
2011–2012 2010–2011

APL 6.81 6.90
BPL 5.80 5.99

Raw material

Work-in-process

Finished goods

Fig. 4.3 Stages of inventory 
movement
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 and
Average raw material inventory = (Operating inventory + Closing inventory)/2 

(ii) Work-in-process inventory turnover = Cost of production/Average WIP inventory  
 where,
              Cost of production =  Raw material consumed + Manufacturing expenses  

+ (Opening balance of WIP – Closing balance of WIP)
            Average WIP inventory = (Opening WIP inventory + Closing WIP inventory)/2 

Interpretation of inventory turnover ratio The inventory turnover ratio depicts the frequency of convert-
ing inventories into receivables. In general, a higher inventory turnover ratio indicates a better manage-
ment of inventories. In a sense, a high inventory turnover ratio also implies better sales management. 
On the other hand, a low inventory turnover ratio may be indicative of slower inventory movement. 
Slow inventory movement may lead to build-up of obsolete inventories leading to fund blockage. As 
the funds are usually borrowed from banks, this may result into increasing the finance cost. 

However, a very high inventory turnover ratio needs a detailed investigation. It requires looking 
into whether this is due to maintenance of lower level of inventory vis-a-vis the optimum require-
ment. Maintenance of lower inventory is risky because it may result into stock-out, adversely 
impacting the production schedule.   

Accounts receivable turnover ratio/Debtors turnover ratio Accounts receivable is the amount to be collected 
from credit sales. Accounts receivable turnover ratio measures the company’s ability to collect cash from 
debtors. It compares the credit sales made by the company with its ability to collect dues from debtors. 
Obviously, a higher turnover ratio means the company is more efficient in collecting from debtors. 

Ideally, only credit sales should be used for calculating the accounts receivable turnover ratio, but 
the profit and loss account does not reveal the value of cash sales and credit sales separately. So, net 
sales are usually considered for computing the ratio. We now compute the ratio by using the figures 
from APL’s balance sheet.

Accounts receivable turnover ratio = Net sales/Average accounts receivable
where,

Average accounts receivable 
  = (Opening accounts receivable + Closing accounts receivable)/2

For APL (2011–2012),
= INR 7964.16 crore/[(INR 500.24 crore + INR 355.56 crore)/2]
= 18.61

A comparative chart between APL and BPL is as shown in Table 4.7.
As can be seen, the accounts receivable turnover ratio for APL is far 

higher than for BPL. This is a matter of concern for the management. 
BPL seems to be slow in recovering dues from the debtors.

Receivable collection period In the given example, the accounts receivable 
turnover ratio of BPL (2011–2012) is 9.80. We may also express it in terms 
of the number of days required for collection. 

Average collection period (ACP) = 360/Accounts receivable turnover ratio
For BPL, 

ACP in 2011 = 360/9.42 = 39 days

Table 4.7 Comparative study of 
accounts receivable turnover ratio

Accounts receivable  
turnover ratio

2011–2012 2010–2011
APL 18.61 18.11
BPL 9.80 9.42
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and, 

ACP in 2012 = 360/9.80 = 37 days

One underlying assumption is that the sales are happening uniformly over the year. In reality, 
however, the sales may be seasonal in nature. In such a case, the accounts receivable turnover ratio 
may vary across different seasons.

Interpretation of receivables turnover ratio Receivables turnover ratio measures the speed of col-
lection of dues from debtors. It also indicates the quality of debtors. A short accounts receivable 
turnover ratio may imply efficient collection system from debtors resulting in less fund requirement 
for managing the working capital. This reduces the cost of working capital financing.

On the other hand, a very long accounts receivable turnover ratio may indicate inefficient debtor 
management system. This may also increase the chances of bad debt and high cost of working 
capital finance. A very low accounts receivable turnover ratio may not be always favourable for a 
company. It may imply tighter collection schedule, which may in turn curtail the sales. 

Ideally, the collection policy of a firm should match the industry practices to which the firm 
belongs. Any major deviation from the industry benchmark should be explored in detail.

Fixed asset turnover ratio The fixed asset turnover ratio (FATR) measures the effectiveness of using 
the fixed assets by the company. The ratio can be measured as 

FATR = Sales/Net fixed asset

For APL, the FATR (2011–2012) is

= INR 7964.16 crore/INR 987.79 crore
= 8.06

As done earlier, we may compare the FATR of APL and BPL in a table 
(see Table 4.8).

As can be seen from Table 4.8, the FATR of BPL is better than that of 
APL in both the years 2010–2011 and 2011–2012. However, APL’s FATR 
improved over the year. 

Interpretation of FATR The FATR explains the efficient utilization of fixed 
assets in generating sales revenue of a firm. A higher FATR indicates 

that the firm is more capable of utilizing its fixed assets in generating revenue. 

Total asset turnover ratio Total asset turnover ratio (TATR) measures the turnover on the firm’s total 
asset. Total assets include both fixed assets and current assets. TATR can be measured as

TATR = Sales/Total assets

For APL (2011–2012)

= INR 7964.18 crore/INR 4980.03 crore 
= 1.59

A comparative study of TATR between APL and BPL is shown in Table 4.9.

Interpretation of TATR The TATR of BPL is slightly better than that of APL, 
which means that there is scope for  improvement  for APL. Disposal of 

Table 4.8 Comparative  
study of FATR

FATR
2011–2012 2010–2011

APL 8.06 6.11
BPL 10.81 11.54

Table 4.9 Comparative study 
of TATR

TATR
2011–2012 2010–2011

APL 1.59 1.64
BPL 1.76 1.72
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unused assets and increased use of underutilized assets may be some of the steps that may be taken 
by APL to reverse the above effect.

As a rule, the ratios should be compared with the industry benchmark. There is no ideal ratio 
but a higher TATR is always preferable.

Current asset turnover ratio Current asset turnover ratio (CATR) measures the utilization of current 
assets in generating sales revenue. 

CATR = Sales/Current assets

For APL (2011–2012)

= INR 7964.15 crore/INR 2777.59 crore
= 2.87 times

A comparative study of CATR between APL and BPL is shown in Table 4.10.

Interpretation of CATR The CATR of APL is slightly better than that of 
BPL. Therefore, there is scope for improvement for  BPL. The company, 
to improve its performance, needs to look critically at its management of 
current assets, which primarily includes inventory and debtors.

Working capital turnover ratio Working capital turnover ratio (WCTR) 
relates the use of working capital with sales revenue earned. 

WCTR = Sales/Net working capital
where, 

Net working capital = Current assets – Current liabilities

For APL (2011–2012),
= 7964.15/(2777.59 – 2290.08) 
= 16.33 times

A comparative study of WCTR between APL and BPL is shown in 
Table 4.11.

The WCTR of APL is much better than that of BPL. So, BPL can 
improve its performance by the management of current assets and  current 
liabilities.

Solvency ratios
Solvency refers to the firm’s ability to repay its debt obligations. A financially healthy firm should 
be able to satisfy its debt obligations at any point of time. Inability to pay the debt obligations on 
time by a firm may lead to insolvency. Therefore, the solvency ratios are important especially for 
creditors, investors, and other stakeholders.

Solvency of a firm is linked to its financial leverage. Financial leverage refers to the proportion 
of debt in the capital structure of the firm. For a highly leveraged firm, that is, a firm with high debt 
component in the capital structure, the risk of insolvency is higher. However, on the other hand, for 
a profitable company, high financial leverage also indicates higher return for equity holders without 
making any additional investment. This happens if the return generated on borrowed fund is higher 
than the interest payable on debt. This phenomenon of increased earning by equity shareholders by 
using cheaper debt fund is often referred to as trading on equity. 

Table 4.10 Comparative study 
of CATR

CATR
2011–2012 2010–2011

APL 2.87 2.58
BPL 2.56 2.49

Table 4.11 Comparative study 
of WCTR

WCTR
2011–2012 2010–2011

APL 16.33 8.13
BPL 6.53 5.59
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In reality, it is almost impossible to predict whether a firm can fail to meet obligations. However, 
a look at the key solvency ratios may give a fair indication of the financial health of a company. 
In the following section, we compute the solvency ratios of APL and BPL.

Debt to assets ratio The debt to assets ratio or the debt ratio compares the total liabilities with 
total assets of the company. This ratio provides a measure of a company’s capital structure, that 
is, it refers to the manner in which a company raised its finances. The ratio can be measured as 

Debt to assets ratio = Total liabilities/Total assets

Obviously, a higher debt ratio indicates riskier capital structure, resulting in a higher financial 
leverage indicating higher financial risk. 

The debt ratio of APL for the year 2011–2012

= INR 2492.25 crore/INR 4980.03 crore
= 0.50

The comparison between APL and BPL is shown in Table 4.12.
As may be seen from Table 4.12, the debt to assets ratio for APL is 

marginally better than that of BPL.
For both the companies, the ratio is favourable, that is, the amount of total 

liability is less than the total asset. If at any point of time the total liability 
exceeds total asset, that is, the ratio becomes higher than 1, it is alarming. 
In cases where the total amount of debt exceeds the total assets owned, 
it implies that in case of bankruptcy the company will not be able to pay 

back creditors even by selling all its assets. This makes the company’s position highly vulnerable. 

Debt to equity ratio Debt to equity ratio (D/E ratio) compares a firm’s total liabilities to total equity. 
A high D/E ratio indicates highly leveraged and riskier capital structure. 

D/E ratio = Total liabilities/Total equity

For APL, the D/E ratio for the year 2011–2012 is

INR 2492.25 crore/INR 2487.48 crore = 1.002

The D/E ratio of APL is very balanced. Every rupee of debt is backed 
by a rupee of equity. The comparison of D/E ratios of APL and BPL is 
as in Table 4.13,

Over the last one year, the D/E ratio has increased marginally for both 
the companies. This shows increasing dependence on liabilities.

The D/E ratio implies the proportion of debt in the capital structure of 
the firm. It shows the extent of debt financing used in business. Increase in 
debt financing comes with enhanced risk. Debt financing creates an obliga-

tion to repay the principal and interest on time. In difficult times, the debt repayment obligations 
may create a problem for the firm.

However, in good times, the existence of debt in capital structure may help the equity holders to 
earn extra returns. This phenomenon is termed as leverage, which is discussed in detail in Chapter 17.

Profitability ratios 
One of the fundamental reasons (and not the only one) behind the existence of a firm is ‘earn-
ing profit’. Stakeholders are primarily interested in knowing if the firm is earning profit or not. 

Table 4.12 Comparative study 
of debt to assets ratio

Debt to assets ratio
2011–2012 2010–2011

APL 0.50 0.48
BPL 0.44 0.40

Table 4.13 Comparative study 
of D/E ratio

D/E ratio
2011–2012 2010–2011

APL 1.00 0.95
BPL 0.79 0.69
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Profitability ratios are handy tools for assessing the earning performance of a firm. These ratios 
demonstrate the return earned by the company relative to other parameters; for example, sales, as-
sets, and so on. These ratios provide an important insight into the operations, liquidity, and asset 
management performance of the company.

Profit margin ratio Profit margin ratio (PMR) or NP ratio compares the net income to the net sales 
of the company. A higher ratio implies higher capacity of generating profit. 

PMR = Net income/Net sales

For APL, the PMR for 2011–2012 is  

= INR 958.39 crore/INR 7964.16 crore = 0.12

If we compare the PMRs of APL and BPL, it will be as shown in Table 4.14.
The comparative study of PMRs of APL and BPL shows that the PMR of 

BPL is a bit lower than that of APL. Remember, this profit is after tax.

Return on total assets The return on total assets (ROTA) shows the level of 
utilization of assets in generating earnings after interest and taxes.

ROTA = Net income/Total assets
 = 958.39/4980.03
 = 19%

A comparison between the ROTAs of APL and BPL is shown in Table 4.15.
The ROTA for APL is much higher than that of BPL. There is ample 

scope for BPL for better utilization of assets. 

Return on equity As discussed in Chapter 1, the primary goal of a company 
is to maximize the return to shareholders. The return on equity (ROE) 
measures the ratio of net income to equity share capital. It is an important 
measure to indicate how much the shareholders are getting back on their 

investments. In other words, it demonstrates the efficiency of managers in generating returns on 
the shareholders’ money.

ROE = Net income/Equity capital
        = INR 958.39 crore/INR 2487.78 crore
        = 38.52%

Comparison between ROEs of APL and BPL is shown in Table 4.16.
In 2011–2012, the ROE of APL is almost double than that of BPL. One 

of the reasons could be higher proportion of debt in the capital structure of 
APL. As computed earlier, the D/E ratio is higher in case of APL, leading to 
trading on equity and, hence, enhanced ROE. However, there could be other 
reasons also; for example, lower profitability and under-utilization of assets. 
Also take note of the PMRs and ROTAs computed earlier.

Earnings per share Earnings per share (EPS) gives an idea about the firm’s capacity of revenue 
generation for shareholders.

EPS = Net income/No. of equity shares

Table 4.14 Comparative study 
of PMR

PMR
2011–2012 2010–2011

APL 0.12 0.12
BPL 0.07 0.07

Table 4.15 Comparative study 
of ROTA

ROTA, %
2011–2012 2010–2011

APL 19 20
BPL 11.74 12.16

Table 4.16 Comparative study 
of ROE

ROE, %
2011–2012 2010–2011

APL 38.52 39.24
BPL 20.98 20.51
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For APL (2011–2012),

EPS = INR 958.39 crore/95919779
       = INR 99.91

This is one of the most readily available information about a company that gives a fair idea about 
how a company fares in delivering value to the shareholders.

Return on investment Return on investment (ROI) is a popular and important ratio to assess the 
profitability of a firm. As the name suggests, it computes the return generated as a percentage of 
investments made.

Before computing ROI, we must be clear  about investment. Investment denotes the total amount 
of funds that are being pooled by the firm and invested in assets. Either the total assets or the net as-
sets may be considered as investments made in the firm. Net assets are also called capital employed. 

Net asset = Net fixed asset + Current asset – Current liabilities (excluding bank loan)
        ROI = ROTA = EBIT/Total assets
        ROI = Return on net assets (RONA) = EBIT/Net assets

It is prudent to consider EBIT as a measure of return because the tax benefits enjoyed by companies 
may differ. Also, the structure of capital financing also differs among the companies.

The after-tax ROTA for APL (2011–2012) is 

 = (1362.93 + 30.82)/4980.03 
 = 27.98%
 (APL 2010–2011) = (1122.33 + 16.35)/3855.04 
 = 29.53%
 RONA (APL 2011–2012) = (1362.93 + 30.82)/487.51 
  = 34.97% 

where, Net assets = Current assets – Current liabilities 
As the depreciation policies also differ among companies, sometimes EBITDA is also used for 

computing ROTA and RONA.

Dividend payout ratio The dividend payout ratio indicates the proportion of profit after tax (PAT) 
paid out to the shareholders as cash dividend. 

Dividend payout ratio = Equity dividend/PAT 
        = Dividend per share/EPS

High dividend payout ratio implies low retention of profit by the company and vice versa. 

Dividend yield Dividend yield is the rate of return earned by shareholders relative to the market 
price of the shares of the company.

Dividend yield = Dividend per share (DPS)/Market value per share

In a similar fashion, earnings yield may also be computed as

Earnings yield = EPS/Market value per share

Market value ratios
All public-listed companies are traded in the stock market; therefore, the share price gives a fair 
idea about the investors’ perception about the companies’ past performance and future expectations. 
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In an organized, regulated, and deeply liquid stock market, share price is one of the most efficient 
indicators of the stockholder’s value. Market value ratios compare the stock price with earnings, 
cash flow, and book value per share.

Price–earnings ratio The price–earnings ratio (P/E ratio) compares the stock price with the EPS. This 
ratio indicates the amount the shareholders are willing to pay at a given EPS. It may be  calculated 
by using the following formula.

P/E ratio = Price per share/EPS

On 1 April 2013, the stock price of APL on NSE was INR 4954.95. The P/E ratio would be

= INR 4954.95/INR 99.91 = 49.59

It is one of the most readily available information about a company, regularly published in business 
newspapers, periodicals, and the Internet. The ratio indicates the investors’ perception about the growth 
prospect of the company. If the investors are bullish, P/E ratio would be on the higher side and vice 
versa. As computed earlier, the investors in APL are willing to pay INR 49.59 for every rupee of  earning 
as of 1 April 2013. 

Price/cash flow ratio The EPS is calculated on the basis of accounting profit. Accounting profit 
is estimated on accrual basis. The investors may be interested more in cash flow rather than the 
accounting book profit. Price/cash flow ratio measures the closeness of stock price with the cash 
flow of the company. Cash flow may be defined as net income plus depreciation and amortization.

Price/cash flow ratio = Price per share/Cash flow per share
 = 4954.95/110.28 = 44.93 times

Note that the P/E ratio of APL is INR 49.59 whereas the P/CF ratio is 44.93 times. This indicates 
that the price–cash flow ratio is a more conservative measure than P/E ratio. A large gap between 
the two indicates the need for better cash flow management.

INTERLINKING THE RATIOS—DUPONT ANALYSIS
In ratio analysis, the performance of a company is measured under different parameters; for example, 
profitability, use of financial leverage, use of assets, and so on. However, to get a holistic view 
about the performance of a company, these parameters must be interlinked. DuPont analysis ties 
up these parameters together and projects a holistic view about the performance of the company. 

Using DuPont analysis, the ROTA is measured as

 ROTA = PMR × TATR
 = (Net income/Sales) × (Sales/Total assets)  (4.1)

For APL, the ROTA in the year 2011–2012 is

= 12% × 1.59 = 19.08%

The ROE can be measured by using the following equation:

ROE = ROTA × Equity multiplier

where,

Equity multiplier (EM) = Total assets/Equity (4.2)
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High EM indicates highly leveraged capital structure, as higher leverage means low equity. If a 
company raises INR 20 through equity and INR 80 through debt to finance, the value of the total 
assets is INR 100. 

Then EM will be 

INR 100/INR 20 = 5

However,  if the funding is INR 80 through equity and INR 20 through debt, the scenario will 
change. The EM will now be 

INR 100/INR 80 = 1.25

Therefore, the ROE of a company is dependent upon ROTA and EM.

 ROE = ROTA × EM
 = (Net income/Total assets) × (Total assets/Equity) (4.3)

ROE of APL (2011–2012) is

 = (958.36/4980.03) × (4980.03/2487.78) 
  = 38.52%

Now, an extended form of DuPont equation may be formed by combining Eqns 4.1 and 4.3.

 ROE = PMR × TATR × EM
  = (Net income/Sales) × (Sales/Total assets) × (Total assets/Equity)  (4.4)

If we calculate the ROE of APL (2011–2012) again, by using Eq. (4.4),

 = 12% × 1.59 × 2.00 = 38.52%

The significance of DuPont equation is that it provides a unique insight into the relationship among 
the profitability, usage of assets, and financial leverage. DuPont equation can be used for important 
decision-making processes regarding the enhancement of ROE. For example, APL may change the 
leverage in capital structure to manage the ROE. 

TREND ANALYSIS
Until now, our focus was on understanding and computing financial ratios. However, along with 
computation of ratios, the trend followed by them should also be understood. Trend analysis gives 
us a snapshot about the way ratios are trending and changing over time. This is particularly useful 
for horizontal analysis of a firm, where we want to understand how a particular firm has developed 
or declined over time. Figure 4.4 demonstrates the trend of return on net worth (RONW) of Titan 
Company over the years from 2007–2008 to 2010–2011. 

The trend can be easily demonstrated using a graph. The trend of RONW of Titan Company 
Ltd is shown in Table 4.17.

Table 4.17 RONW trend of Titan Company Ltd

Year 2014–2015 2013–2014 2012–2013 2011–2012 2010–2011 2009–2010 2008–2009 2007–2008

RONW 29.3% 33% 42.5% 48.5% 46.1% 39.2% 32.2% 39.4%
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COMPARATIVE RATIOS AND BENCHMARKING
To understand the financial health of a company, it is compared with the performance of competi-
tors and the industry peer group. This involves comparison with other firms in the same industry, 
that is, the industry average, as well as with the smaller set of market leaders in the same industry. 
This is called benchmarking and the companies under consideration for benchmarking are called 
benchmark companies. Berger Paints Ltd may benchmark their performance against that of Asian 
Paints Ltd, Kansai Nerolac Paints Ltd (KNPL), Shalimar Paints Ltd (SPL), and so on. 

A comparison of standalone NP ratio is given in Table 4.18.
With benchmarking, the management understands where the com-

pany really stands in relation to the competitors. In Table 4.5, it is 
clearly visible that BPL is in close proximity with its peer group and 
there is scope for improvement. If you have a closer look at Table 
4.18, you might notice that the NP ratio of the leading Indian paint 
companies ranges between 2.03% and 11.54%. In general, higher the 
NP ratio, the better it is. In that sense, APL performed much better 
compared to its peer group. However, the complete picture will be 
visible only after comparisons of other ratios are made.  

BERGER PAINTS LIMITED—RATIO ANALYSIS USING MS EXCEL
As discussed earlier, MS Excel can be an excellent tool for financial computations. Now, we will 
take up the ratio analysis of BPL using MS Excel.
1. Open the spreadsheet that you created for modelling financial statements in Chapter 3, that is, 

Ch3_FS.xlsx, and save it under a new name Ch4_FS.xlsx using ‘File | save as’ command. Name 
the sheet 6 as ‘Ratio’.

2. Liquidity and Solvency Ratios:
• Current ratio = Current assets/Current liabilities. 
 Enter = ‘Balance sheet’!D38/‘Balance sheet’!D18 in cell B3. Copy it to C3. 
• Acid-test (quick) ratio = (Current assets – Inventory)/Current liabilities. 
 Enter = (‘Balance sheet’!D38-‘Balance sheet’!D33)/‘Balance sheet’!D18 in cell B4. Copy it to C4. 

Graphically putting, the figures will be as shown in Fig. 4.4.

Fig. 4.4 Trend analysis showing RONW of  
Titan Company Ltd in percentage

Table 4.18 Comparison of NP ratios of 
Indian paint companies

Company NP ratio for 2012–2013

BPL 6.90%

APL 11.54%

KNPL 9.67%

SPL 2.03%
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• Debt to assets ratio = debt/assets.
 Enter = (‘Balance sheet’!D18+‘Balance sheet’!D12)/‘Balance sheet’!D39 in cell B5. Copy it to C5.
• Debt equity ratio = Total debt/Total equity
 Enter = (‘Balance sheet’!D18+‘Balance sheet’!D12)/‘Balance sheet’!D8 in cell B6. Copy it to C6.

3.	 Profitability	Ratios:
• Profit margin ratio = Net profit/Sales 
 Enter =‘P&L’!C23/‘P&L’!C6 in cell B9. Copy it to C9.
• Earnings per share (EPS) = Net income /Number of outstanding shares
• Enter =(‘P&L’!C23*1000000)/‘P&L’!C27 in cell B10. Copy it to C10.
 Return on total assets = Net income/Total assets
• Enter =‘P&L’!C23/‘Balance Sheet’!D39 in cell B11. Copy it to C11.
 Return on equity = Net income/Shareholders’ funds.
• Enter =‘P&L’!C23/‘Balance sheet’!D8 in cell B12. Copy it to C12.
 Return on capital employed = Net income/Capital employed
• Enter =(‘P&L’!C23+‘P&L’!C14*(1-B13))/‘Balance sheet’!D8 in cell B14. Copy it to C14. The 

assumed corporate tax rate is 35% as mentioned in B13.
4. Turnover Ratios (expressed in times):

• Asset turnover ratio = Sales/Total assets.
 Enter =‘P&L’!C6/‘Balance Sheet’!D39 in cell B17. Copy it to C17.
• Debtors turnover ratio = Sales/Average debtors
 Enter =ROUND((‘P&L’!C6)/((‘Balance sheet’!D34+‘Balance sheet’!F34)/2),2) in cell B18. 

Copy it to C18.
• Days receivable, in days = [Sundry debtors /(Sales/365)].
 Enter =ROUND(‘Balance sheet’!D34/(‘P&L’!C6/365),0)&” “&”Days” in cell B19. Copy it 

to C19.
• Days payable period, in days = [Sundry creditors/(Purchase/365)]
 Enter =ROUND(‘Balance Sheet’!D15/(‘P&L’!C10/365),0)&” “&”Days” in cell B20. Copy it 

to C20.
• Inventory turnover ratio =  Sales/Average inventory
 Enter =ROUND((‘P&L’!C6)/((‘Balance sheet’!D33+’Balance sheet’!F33)/2),2) in cell B21. 

Copy it to cell C21.
• Days inventory = [Inventory/(Total expenses/365)]
 Enter =ROUND(‘Balance sheet’!D33/(‘P&L’!C17/365),0)&” “&”days” in cell B22. Copy it 

to cell C22.
• Working capital turnover ratio = Sales/(Current assets – Current liabilities)
 Enter =‘P&L’!C6/(‘Balance sheet’!D38-‘Balance sheet’!D18) in cell B23. Copy it in cell C23.

5. Capital Market Ratios:
• Dividend payout ratio = Dividend per share (DPS)/Earning per share (EPS)
 Enter =1.40/B10 in cell B26. Copy it to C26. INR 1.40 is the DPS for the year 2011–2012, 

as extracted from the annual report.
• Dividend yield = DPS/Market price per share
 Enter =1.4/B27 in cell B28. Copy it to C28. 
• Price-earning (P/E) ratio = Market price per share/EPS
 Enter =B27/B10 in cell B29. Copy it to C29.

As stated in Chapter 3, you may view the formula in each cell by pressing ‘Ctrl+’’. Refer to  
Figs 4.5 and 4.6.
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6. DuPont Analysis
• Name the sheet 7 of Ch4_FS.xlsx as DuPont.
• Profit margin ratio = PAT/Sales
 Enter =(‘P&L’!C23)/‘P&L’!C6 in cell B2.
• Total asset turnover ratio = Sales/Total assets
 Enter =‘P&L’!C6/‘balance sheet’!D39 in cell B3.
• Equity multiplier = Total assets/Equity
 Enter =‘balance sheet’!D39/‘balance sheet’!D8 in cell B4.
• DuPont Ratio: 
 Return on equity (ROE) = (PAT/Sales) × (Sales/Total assets) × (Total assets/Equity)
• Enter =B2*B3*B4 in cell B5. Refer to Fig. 4.7.
 ROE may be calculated directly by entering =‘P&L’!C23/‘balance sheet’!D8 in cell B6. Note 

that the result in cell B5 and cell B6 is the same, i.e., 20.98%.

Fig. 4.7 DuPont analysis of BPL
Source: Data from Berger Paints Annual Report.

USE AND LIMITATIONS OF RATIO ANALYSIS 
The users of ratio analysis are mainly the following: 
(i) Stock analysts and investors looking for a good investment opportunity, (ii) the credit analysts, 
seeking a view on credit worthiness of the firm, and (iii) the managers of the firm, who try to  assess 
and improve the performance.  

Although ratio analysis is one of the most popular and effective methods for company analysis, 
it is not free from limitations. Some of the limitations are explained as follows:
(i) Comparison with peer group ratios may not be possible for large diversified companies. For a 

large diversified, multi-divisional company, developing a meaningful industry standard is dif-
ficult due to the diverse nature of business. For example, ITC Ltd is a large conglomerate that 
deals in numerous business ventures starting from tobacco to hotels and stationery. Each busi-
ness division of the company belongs to a different industry. Hence, developing a benchmark 
encompassing all the industry segments is difficult to implement.

(ii) Ratio analysis uses the historical financial data for computation and analysis. The real value 
of the financial data changes due to inflation. When the ratio analysis is done over the years, 
due to inflation it may give a distorted figure. For example, if we compute the NP ratio of BPL 
for the year 2007 and 2012, using the nominal figures, it may not present a real picture as the 
money values might have changed from 2007 to 2012 due to inflation.

(iii) The results of ratio analysis may get distorted due to seasonal factors. The inventory turnover 
ratio of a tea producing company may vary if calculated in summer and winter separately. This 
problem can be reduced by using proper averages while calculating the turnover ratios.
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(iv) Ratio analysis is done by using data from published financial statements, for example, balance 
sheet, profit and loss account, cash flow statement, and so on. Sometimes, firms may adopt 
‘window dressing’ techniques for showing the financial statements in  a better light than it 
should be. ‘Window dressing’ techniques imply an effort to show the financials in a better light 
than in reality. A remedy to this could be to employ stricter auditing norms.

(v) If the companies under consideration belong to different countries and geographical regions, they 
may follow different accounting practices. For example in India, a company may prepare the financial 
statements by using Indian accounting standards (Indian AS), whereas a company in the USA may 
prepare the same under US GAAP (Generally Accepted Accounting Principles). This makes the 
comparison between two companies difficult. This issue can be addressed by preparing financial 
statements following international accounting standards. Infosys Ltd prepares two sets of financial 
statements, one by following Indian AS and the other by using international financial standards.  

(vi) When we compare the ratios together with the industry average, some ratios may look good, 
others may look moderate, and still others may look bad. In such a scenario, it becomes dif-
ficult to take a holistic view on the overall performance of the company. This issue however 
may be addressed by using statistical methods like discriminant analysis.

(vii) It is often difficult to judge whether a particular ratio is up to the mark. A high quick ratio may 
indicate a strong liquidity position on one hand and bad cash management on the other.

Despite these issues, ratio analysis is an immensely useful tool for analysing the performance of a 
company if used intelligently. The correct interpretation of ratios is dependent upon the judicious 
judgement of the analyst.

COMMON SIZE STATEMENT ANALYSIS
Another way of analysing financial statements is by using common size statement. In common 
size analysis, all items in the income statement are divided by sales, and in the balance sheet, all 
items are divided by total assets. In this way, the common size income statement shows all items 
as percentage of sales and all items in the balance sheet as percentage of total assets. Under com-
mon size statement, sales are considered as 100 per cent, and then all other items in the balance 
sheet and profit and loss account are expressed as a percentage of sales. For example, in Fig. 4.8, 
the sales for BPL are being considered as 100 per cent first, and then the other items in profit and 
loss account are being computed in percentage terms relative to the sales.

Common size statement can be easily generated by using Excel spreadsheets. We will prepare 
the common size statement of BPL by using MS Excel.
1. Preparation of common size profit and loss account using MS Excel (refer to Fig. 4.8)

• Name the sheet 8 of Ch4_FS.xlsx as CS P&L.
• Copy the profit and loss account of Berger Paints from the ‘P&L’ worksheet in ‘CS P&L’.
• Enter ‘100%’ in cell D4.
• Enter =C5/$C$4 in cell D5.
• Copy cell D5 through D6 : D22.

 The common size balance sheet can also be computed using MS Excel spreadsheet. (refer to Fig. 4.9).
• Name the sheet 9 of Ch4_FS.xlsx as CS BS.
• Copy the balance sheet of Berger Paints from the ‘balance sheet’ worksheet in worksheet ‘CS 

BS’ through A4:E39.
• Enter ‘100%’ in cell E19.
• Enter =D6/$D$19 in cell E6.
• Copy E6 through E7:E18.
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Fig. 4.8 Common size profit and loss account analysis using MS Excel
Source: Data from Berger Paints Annual Report.

Fig. 4.9 Common size balance sheet analysis of BPL using MS Excel
Source: Data from Berger Paints Annual Report.
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• Enter ‘100%’ in cell E39.
• Enter =D22/$D$39 in cell E22.
• Copy E22 through E23:E38.
• To view the formulae in cells, press ‘Ctrl+`’

Common size statement analysis is useful for making a comparative study of the financial statements 
of two different time periods. Please refer to the worksheet ‘CS BS&Pl-2yrs’ of Ch4_FS.xlsx. The 
common size statement of BPL for the year 2012 and 2011 is shown. Figure 4.10 shows the compara-
tive common size P&L account and Fig. 4.11 shows the common size balance sheet. The comparative 
common size statement makes the comparison easier to understand and may give some rare insights.

Fig. 4.11 BPL: Comparison of balance sheet using common size statement
Source: Data from Berger Paints Annual Report.

Fig. 4.10 BPL: Comparison of P&L account using common size statement
Source: Data from Berger Paints Annual Report.
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 Illustration 1  ABC Ltd has made the following 
estimations for the next year:
Total assets employed = INR 10,00,000
Borrowed capital = INR 4,00,000
Interest rate on borrowed capital = 10% p.a.
Gross profit ratio = 25% on sales
Direct cost = INR 1,00,000
Other operating expenses = INR 50,000
Sales revenue = 350% on direct cost
Tax rate = 30%
Compute:
(i) Net profit margin
(ii) Return on assets

(iii) Asset turnover ratio
(iv) ROE

Solution:

Table 1 Statement of profit

Particulars INR INR
Sales (350% on direct cost) 3,50,000
Less: Direct cost 1,00,000
Gross profit 2,50,000
Less: Operating expenses 60,000
Profit/Earnings before interest and taxes 
(PBIT/EBIT)

1,90,000

Less: Interest (10% on INR 4,00,000) 40,000 1,50,000
Profit/Earning before taxes (PBT/EBT) 1,00,000
Less: Tax @ 40% 40,000
Profit/Earnings after tax (PAT/EAT) 60,000

(i)  Net profit margin = PAT/Sales = INR 60,000/ 
INR 3,50,000 = 0.1714 or 17.19%

(ii)  Return on assets == [EBIT (1 – T)]/Sales  
= [INR 1,90,000 (1 – 0.40)]/INR 3,50,000  
= 0.3257 or 32.57%

(iii)  Asset turnover ratio = Sales/Assets
 = INR 3,50,000/INR 10,00,000 = 0.35 or 35%
(iv) ROE = PAT/Owners’ equity =  INR 60,000/INR 

6,00,000 = 0.10 or 10% 
(vi) Owner’s equity = Total assets – Borrowed fund 

= INR 10,00,000 – INR 4,00,000 
 = INR 6,00,000

 Illustration 2  The significant ratios of ABC Ltd 
are given below:

Inventory turnover ratio 6 times
Total asset turnover ratio 2.5 times
Current debt to total debt 0.60
Fixed assets to owners’ equity 0.50
Total debt to owners’ equity 0.30

The owners’ equity is INR 2,00,000. With the help 
of the above-mentioned information, fill up the blank 
spaces in the following balance sheet:

Capital and liabilities INR Assets INR
Owners’ equity ? Fixed assets ?
Long-term debt ? Inventory ?
Current debt ? Cash ?
Total ? Total ?

Solution:
(i)  Total debt = 0.30 × INR 2,00,000 = INR 60,000
(ii) Current debt = 0.60 × Total debt = 0.60 × INR 

60,000 = INR 36,000
(iii) Long term debt = Total debt – Current debt  

= INR 60,000-INR 36,000 = INR 24,000
(iv) Fixed asset = 0.50 × Owners’ equity = 0.50 × 

INR 2,00,000 = INR 1,00,000
(v) Owners’ equity + Total debt = INR 2,00,000 + 

INR 60,000 = INR 2,60,000; therefore, Total 
asset = INR 2,60,000

(vi) Asset turnover ratio = Sales/Assets = 2.5
 Or, Sales = 2.5 × Assets = 2.5 × INR 2,60,000 

= INR 6,50,000
(vii) Inventory turnover ratio = Sales/Inventory = 6
 Or, Inventory = INR 6,50,000/6 = INR 1,08,333
(viii) Cash = Total assets – Fixed assets – Inventory 

= INR 2,60,000 – INR 1,00,000 – INR 1,08,333 
= INR 51,667

After incorporating this information, the balance 
sheet appears as follows:

Capital and liabilities INR Assets INR
Owners’ equity 2,00,000 Fixed assets 1,00,000
Long-term debt 24,000 Inventory 1,08,333

Solved illustrations
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Capital and liabilities INR Assets INR
Current debt 36,000 Cash  51,667
Total debt and capital 2,60,000 Total assets 2,60,000

 Illustration 3  A company X Ltd has a current ratio 
of 3.5 : 1 and a quick ratio of 2 : 1. If an excess of 
current assets over quick assets represented by in-
ventories is INR 24,000, calculate the current assets 
and the current liabilities.

Solution: 
Current ratio = 3.5 : 1 
Quick ratio = 2 : 1
Let current liabilities = x 
Current assets = 3.5x 
Quick assets = 2x 
Inventories = Current assets – Quick assets 
24,000 = 3.5x – 2x 
24,000 = 1.5x; x = INR 16,000 
Current liabilities = INR 16,000 
 Current assets  = 3.5x = 3.5 × INR 16,000 

= INR 56,000 

Verification: 

 Current ratio  = Current assets : Current liabilities  
= INR 56,000 : INR 16,000 = 3.5 : 1 

 Quick ratio  = Quick assets : Current liabilities  
= INR 32,000 : INR 16,000 = 2 : 1

 Illustration 4  The current ratio is 2 : 1. State giving 
reasons which of the following transactions would 
improve, reduce, and not change the current ratio: 
(a) Payment of current liability
(b) Purchased goods on credit
(c) Sale of a computer (book value: INR 4,000) for 

INR 3,000 only
(d) Sale of merchandise (goods) costing INR 10,000 

for INR 11,000
(e) Payment of dividend

Solution:
The given current ratio is 2 : 1. Let us assume that 
current assets are INR 50,000 and current liabilities 

are INR 25,000; thus, the current ratio is 2 : 1. Now 
we will analyse the effect of the given transactions 
on current ratio. 

(a) Assume that the creditors are paid INR 10,000 
by cheque. This will reduce the current assets 
to INR 40,000 and current liabilities to INR 
15,000. The new ratio will be 2.67 : 1 (INR 
40,000/INR 15,000). Hence, it has improved.

(b) Assume that goods worth INR 10,000 are pur-
chased on credit. This will increase the current 
assets to INR 60,000 and current liabilities to 
INR 35,000. The new ratio will be 1.7 : 1 (INR 
60,000/INR 35,000). Hence, it has reduced. 

(c) Due to the sale of a computer (a fixed asset) 
the current assets will increase to INR 53,000 
without any change in the current liabilities. 
The new ratio will be 2.12 : 1 (INR 53,000/INR 
25,000). Hence, it has improved. 

(d) This transaction will decrease the inventories 
by INR 10,000 and increase the cash by INR 
11,000, thereby increasing the current assets by 
INR 1,000 without any change in the current 
liabilities. The new ratio will be 2.04 : 1 (INR 
51,000/INR 25,000). Hence, it has improved. 

(e) Assume that INR 5,000 is given by way of 
dividend. It will reduce the current assets to 
INR 45,000 without any change in the current 
liabilities. The new ratio will be 1.8 : 1 (INR 
45,000/INR 25,000). Hence, it has reduced.

 Illustration 5  The debt–equity ratio of company X 
Ltd is 0.5 : 1. Which of the following would increase, 
decrease, or not change the debt–equity ratio? 

(i) Further issue of equity shares 
(ii) Cash received from debtors  
(iii) Sale of goods on cash basis 
(iv) Redemption of debentures 
(v) Purchase of goods on credit

Solution: 
The change in the ratio depends upon the original 
ratio. Let us assume that external funds are INR 
5,00,000 and internal funds are INR 10,00,000.

Now we will analyse the effect of given transactions 
on debt–equity ratio. 
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(i) Assume that INR 1,00,000 worth of equity 
shares are issued. This will increase the internal 
funds to INR 11,00,000. The new ratio will be 
0.45 : 1 (INR 5,00,000/INR 11,00,000). Thus, 
it is clear that further issue of equity shares 
decreases the debt–equity ratio. 

(ii) Cash received from debtors will leave the internal 
and external funds unchanged as this will only 
affect the composition of current assets. Hence, 
the debt–equity ratio will remain unchanged. 

(iii) This will also leave the ratio unchanged as sale 
of goods on cash basis affects neither debt nor 
equity. 

(iv) Assume that INR 1,00,000 debentures are re-
deemed. This will decrease the long-term debt 
to INR 4,00,000. The new ratio will be 0.4 : 1 
(INR 4,00,000/INR 10,00,000). Redemption of 
debentures will decrease the debit–equity ratio. 

(v) This will also leave the ratio unchanged as 
purchase of goods on credit affects neither debt 
nor equity.

 Illustration 6   From the following details, calculate 
interest coverage ratio: 
Net profit after tax = INR 60,000
15% Long-term debt = 10, 00,000
Tax rate = 40%

Solution: 
Net profit before tax = Net profit after tax × 100/ 
(100 – Tax rate) 
= INR 60,000 × 100/(100 – 40)
= INR 1,00,000 
Interest on long-term debt = 15% of INR 10,00,000 
= INR 1,50,000 
Net profit before interest and taxes = Net profit 
before taxes + Interest 
= INR 1,00,000 + INR 1,50,000 = INR 2,50,000 
Interest coverage ratio = Net profit before interest 
and taxes/Interest on long-term debt 
= INR 2,50,000/INR 1,50,000 = 1.67 times

 Illustration 7  From the following information, 
calculate inventory turnover ratio:
Inventory in the beginning = INR 18,000 

Inventory at the end = INR 22,000 
Net purchases = INR 46,000 
Wages = INR 14,000 
Revenue from operations = INR 80,000 
Carriage inwards = INR 4,000
Solution:
Inventory turnover ratio = Cost of revenue from 
operations/Average inventory 
Cost of revenue from operations = Inventory in 
the beginning + Net purchases + Wages + Carriage 
inwards – Inventory at the end 
= INR 18,000 + INR 46,000 + INR 14,000 + INR 
4,000 – INR 22,000 = INR 60,000 
Average inventory = (Inventory in the beginning  
+ Inventory at the end)/2 
= (INR 18,000 + INR 22,000)/2 = INR 20,000 
Therefore, Inventory turnover ratio = INR 60,000/
INR 20,000 = 3 times

 Illustration 8  Calculate inventory turnover ratio 
from the following information: 
Revenue from operations = INR 4,00,000 
Average inventory = INR 55,000 
Gross profit ratio = 10%
Solution:
Revenue from operations = INR 4,00,000 
Gross profit = 10% of INR 4,00,000 = INR 40,000 
Cost of revenue from operations = Revenue from 
operations – Gross profit 
= INR 4,00,000 – INR 40,000 = INR 3,60,000
Inventory turnover ratio = Cost of revenue from 
operations/Average inventory 
= INR 3,60,000/INR 55,000 = 6.55 times

 Illustration 9  A trader carries an average inventory 
of INR 40,000. His inventory turnover ratio is 8 
times. If he sells goods at a profit of 20% on revenue 
from operations, calculate the gross profit.

Solution:
Inventory turnover ratio = Cost of revenue from 
operations/Average inventory 

8 = Cost of revenue from operations/INR 40,000 
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 Cost of revenue from operations = 8 × INR 40,000 
= INR 3,20,000 
Revenue from operations = Cost of revenue from 
operations × (100 /80) 
= INR 3,20,000 × (100/80) = INR 4,00,000 
Gross profit = Revenue from operations – Cost of 
revenue from operations 
= INR 4,00,000 – INR 3,20,000 = INR 80,000

 Illustration 10  Calculate the trade receivables 
turnover ratio from the following information: 
Total revenue from operations = INR 4,00,000 
Cash revenue from operations = 20% of total rev-
enue from operations 
Trade receivables as on 1 April 2014 = INR 40,000 
Trade receivables as on 31 March 2015 = INR 1,20,000

Solution:
Trade receivables turnover ratio = Net credit revenue 
from operations/Average trade receivables credit 
revenue from operations = Total revenue from opera-
tions – Cash revenue from operations 

Cash revenue from operations = 20% of INR 
4,00,000 = INR 4,00,000 × (20/ 100) = INR 80,000 

Credit revenue from operations = INR 4,00,000 – 
INR 80,000 = INR 3,20,000

Average trade receivables = (Opening trade receiv-
ables + Closing trade receivables)/2 = (INR 40,000 
+ INR 1,20,000)/2 = INR 80,000 

Trade receivables turnover ratio = Net credit revenue 
from operations/Average trade receivables = INR 
3,20,000/INR 80,000 = 4 times

SUMMARY
For any stakeholder of a company, the assessment of the company’s performance is important. In this chapter, we have discussed 
the tools for financial statement analysis. Ratio analysis is a significant and popular tool for assessing the financial health of a 
company. We have also discussed about other important tools such as trend analysis and common size statement. The following 
are the important takeaways from the chapter:
l Financial statement analysis helps the stakeholders of a com-

pany to have a glimpse of the financial health of a company.
l Analysis of financial statements generally begins with ratio 

analysis. Financial ratios are important in the sense that it 
gives a comparative view of various performance parameters 
of the company.

l Liquidity ratios show the company’s ability to meet the current 
liabilities by using current assets. The major liquidity ratios 
are current ratio and quick ratio.

l Asset management ratios measure the effective use of as-
sets of a company. Important asset management ratios are 
inventory turnover ratio, fixed asset turnover ratio, and total 
asset turnover ratio.

l Solvency refers to the firm’s ability to repay its debt obliga-
tions. A financially healthy firm should be able to satisfy its 

debt obligations at any point of time.
l Market value ratios compare the stock price with earnings, 

cash flow, and book value per share. 
l In ratio analysis, the performance of a company is measured 

under different parameters, e.g., profitability, use of financial 
leverage, and use of assets. However, to get a holistic view 
about the performance of a company, these parameters must 
be interlinked. DuPont analysis ties up these parameters 
together and projects a holistic view about the performance 
of the company. 

l Trend analysis gives us a snapshot about the way ratios are 
trending.

l Common size income statement shows all items as percent-
age of sales and all items in a balance sheet as percentage 
of total assets.

KEY CONCEPTS
Asset management ratios These ratios assess the returns 
generated by assets. The important asset management ratios are 
inventory turnover ratio, debtors turnover ratio, fixed asset turnover 
ratio, and total asset turnover ratio.

Debt management ratios Companies borrow funds to meet 
capital requirements. The important debt management ratios 
are debt-equity ratio and time-interest earned ratio.
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EXERCISES
Multiple Choice Questions
 1. The liquidity position of a firm may be assessed through 

(i) Current ratio (ii)  Return on net worth
(iii) Debt–Equity ratio (iv) Stock turnover ratio

 2. A change in management of stock may be anticipated 
through 
(i) Current ratio (ii)  Return on net worth
(iii) Debt–Equity ratio (iv)  Stock/Inventory turnover ratio

 3. A change in profitability of a company may be anticipated 
through 
(i) Current ratio (ii)  NP ratio
(iii) Debt–Equity ratio (iv)  Stock/Inventory turnover ratio

 4. Which of the following statements is most appropriate?

(i) Determining whether a firm’s financial position is 
improving or deteriorating requires analysis of more 
than one set of financial statements. Trend analysis 
is one method of measuring a firm’s performance 
over time.

(ii) DuPont analysis is another method of measuring 
financial performance.

(iii) Both (i) and (ii) are correct.
(iv) Both (i) and (ii) are wrong.

 5. The return to the equity holders may be measured com-
prehensively by using the following ratio:
(i) DuPont ratio (ii)  NP ratio
(iii) Debt–Equity ratio (iv)  Stock/Inventory turnover ratio

Ans: 1. (i), 2. (iv), 3. (ii), 4. (iii), 5. (i)

Concept Review Questions
 1. Define each of the following terms:

 (a) Liquidity ratios: Current ratio and quick ratio
 (b) Financial leverage ratios: Debt–Equity ratio and inter-

est coverage ratio
 (c) Profitability ratios: EPS and ROTA 
 (d) DuPont equation

 2. Discuss the importance of analysis of trends in financial ratios.
 3. ‘Sunetra Ltd has a healthy asset turnover ratio in the year 

2011–2012 but not a good liquidity ratio’. When can this 
happen?

 4. What is common size statement? Discuss the importance 
of common size statement.

 5. Why is financial statement analysis important from the point 
of view of the stakeholders?

 6. What does the term ‘liquidity’ imply for a firm?
 7. Do you think having a high current ratio guarantees good 

liquidity position?

 8. Define the leverage ratios.
 9. How is the debt–equity ratio effective in assessing the 

solvency of a firm?
 10. Discuss the significance of activity ratios.
 11. Discuss the different ways to compute the rate of return of 

a company.
 12. What is DuPont analysis?
 13. Discuss the limitations of ratio analysis.
 14. How are common size statements useful in assessing a 

firm’s performance?
 15. Discuss the important market value ratios for assessment 

of a firm’s performance.
 16. How do market value ratios reflect the investors’ perception 

about a company?
 17. What is benchmarking? How is appropriate benchmarking 

important for ratio analysis?

Liquidity ratio These ratios are used to measure the liquidity 
position of a company. The important liquidity ratios are current 
ratio and quick ratio.
Market value ratios Stock prices reflect the performance of a 
company. Market value ratios demonstrate the relationship between 
the market price and financial performance of the company. P/E ratio 
and price–cash flow ratio are the two important market value ratios.

Profitability ratios These ratios measure the extent of profit-
ability generated by operations. NP ratio, ROTA, and ROE are 
the examples of profitability ratios. 
Ratio analysis It is a simple yet a very useful tool for analysing 
the financial performance of a company. In ratio analysis, the 
financial parameters are compared with each other to understand 
the financial performance of a company.
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Critical Thinking Questions
 1. ‘Stakeholders of a company, e.g., shareholders, creditors, 

employees, and government are interested in the financial 
analysis of a company. However, the viewpoint of each of 
them may be different.’ Explain.

 2. ‘In ratio analysis, no two companies are exactly compa-
rable.’ Do you agree with this statement? Explain your view.

 3. ‘A company may make good profit but still may be unable 
to pay the dues on time.’ Discuss.

 4. ‘Window dressing of financial statements may give mislead-
ing results to analysts.’ Discuss.

Numerical Problems
 1. Sumedha Ltd has an average daily sale of INR 2,00,000 

and debtor turnover ratio of 8. Compute the level of its 
accounts receivable. Assume 360 days in a year.

 2. Jayashree Ltd has an equity multiplier of 3.5. The capital 
structure of the company consists of equity and debt. 
Compute the debt ratio.

 3. Surya Ltd has a profit margin of 5% and an equity mul-
tiplier of 3.0. The total sales of Surya is INR 1,500 lakh 
and total assets of INR 750 lakh. Compute the ROE.

 4. Sulekha Ltd has a profit margin of 3%, ROTA of 11%, and 
an ROE of 14%. Compute the company’s TATR and equity 
multiplier ratio.

 5. Sunetra Ltd has current assets of INR 50 lakh. The current 
ratio of the company is 1.5 and quick ratio is 1.0. Compute 
the current liability of Sunetra.

 6. Compute the profit margin and debt ratio of Sundaram Ltd 
from the following information:

  ROTA = 4%
  ROE = 5%
  Sales/Total assets = 2.0
 7. Alex Ltd has annual sales of INR 200 lakh, and the NP 

margin is 5%. Alex’s current debt outstanding is INR 500 
lakh and the average tax rate is 35%. Compute the interest 
coverage ratio of Alex Ltd.

 8. The following information relates to two companies, Jack 
Ltd and Jill Ltd:

Jack Ltd Jill Ltd

Earning after tax INR 3,00,000 INR 6,00,000

P/E ratio 17 20

  Jill Ltd’s management wishes to acquire Jack Ltd Jill’s esti-
mate is that after acquisition they could save INR 1,00,000 
annually after tax on administrative fixed costs in running 
the new joint company. Additionally, they estimate that the 
P/E ratio of the new company would be 19. 

   Based on these estimates, what is the maximum that 
the shareholders of Jill Ltd should pay for the entire share 
capital of Jack Ltd?

 9. Calculate the trade receivables turnover ratio from the 
following information: 

  Total revenue from operations = INR 5,00,000 
  Cash revenue from operations = 10% of total revenue from 

operations 
  Trade receivables as on 1 April 2014 = INR 50,000 
  Trade receivables as on 31 March 2015 = INR 80,000
 10. A trader carries an average inventory of INR 50,000. His 

inventory turnover ratio is 10 times. If he sells goods at a profit 
of 30% on revenue from operations, find out the gross profit.

 11. From the following information, calculate inventory turnover 
ratio: 

  Revenue from operations = INR 5,00,000 
  Average inventory = INR 65,000 
  Gross profit ratio = 15%
 12. From the following information, calculate inventory turnover 

ratio:
  Inventory in the beginning = INR 28,000 
  Inventory at the end = INR 21,000 
  Net purchases = INR 48,000 
  Wages = INR 15,000 
  Revenue from operations = INR 90,000 
  Carriage inwards = INR 5,000

 18. Discuss the importance of MS Excel as a technological 
tool for ratio analysis.

 19. Discuss the significance of asset management ratios.

 20. Discuss the importance of trend analysis in assessing the 
performance of a company.
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Spreadsheet Problems
 1. Refer to FMAB_Ch4_xlsx. This contains the financial state-

ment of Akzo Nobel India Ltd (ANIL). Compute the important 
ratios using the data available and answer the following 
questions:
 (i) How well did the management of ANIL use the assets 

for generating the income?
 (ii) Comment upon the change in liquidity position of ANIL 

over the year.
 (iii) Explore the reasons behind the change in profitability 

position of ANIL over the year.
 (iv) Make a holistic view on the performance of ANIL using 

DuPont analysis.

 2. Refer FMAB_Ch4_xlsx in the ORC. This contains the 
financial statement of Rallis India Ltd (RIL). Compute 
the important ratios using the data available and answer 
the following questions:
 (i) How well did the management of RIL use the assets 

for generating income?
 (ii) Comment upon the change in liquidity position of RIL 

over the year.
 (iii) Explore the reasons behind change in profitability 

position of RIL over the year.
 (iv) Make a holistic view on the performance of RIL using 

DuPont analysis.

 13. From the following details, calculate interest coverage ratio: 
  Net profit after tax = INR 70,000
  15% long-term debt = INR 20,00,000
  Tax rate = 30%
 14. The debt–equity ratio of X Ltd is 1 : 1. Which of the 

following would increase, decrease, or not change the 
debt–equity ratio? 

 (i) Further issue of equity shares 
 (ii) Cash received from debtors 
 (iii) Sale of goods on cash basis 
 (iv) Redemption of debentures 
 (v) Purchase of goods on credit

Assignment 
Identify three companies belonging to the cement industry and 
part of NIFTY 100 (refer to www.nseindia.com). Download the 
financial information, e.g., annual report, stock prices, etc., for 
the last three years. Perform a financial performance analysis 

of the three companies using ratio analysis and common size 
statement analysis. Also, make a comparative study of the 
companies.
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CASE STUDIES
 1. The financial statements of RIL pertaining to the year 2011–2012 are given as follows:
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Source: Data from Rallis India Ltd, Annual Report 2011–2012.

 (i) ‘The effectiveness in using the assets in raising the profit-
ability of RIL has substantially improved over the years’. Do 
you agree with this statement? Give adequate reasoning 
in favour of your opinion.

 (ii) How effectively has RIL managed the liquidity position? 
Give your opinion.

 (iii) Critically evaluate the profitability ratios of RIL.

FM_book.indb   104 8/3/2016   8:55:29 PM



Financial Statement Analysis 105

Source: Data from Titan Company Ltd, Annual Report 2014–2015.

 2. Titan Company Ltd is the fifth largest watch maker in the 
world and the largest jewellery and eyewear retailer in 
India. The company was established in 1987 and, over 
three decades, the company has emerged as a leading 

player in the lifestyle segment. The financial statements of 
Titan Company for the years 2013–2014 and 2014–2015 
are given as  follows: 
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‘DuPont analysis is a useful tool to assess the overall perfor-
mance of a company.’ Critically evaluate the performance of 

Titan Company for the years 2013–2014 and 2014–2015 using 
DuPont analysis.
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